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M The mealis not____his taste.
A, for B. of
C.to D. by

1 : To- someone's taste - T erwa &
Example : The movie was not to my taste.

Ans : B.

mgr et o iTat esfere fRgents !wT,TkemenI is not to his taste.
A, Fie B. =& £ toe
C. Fe D. of¥ The Bengali meaning of the word 'croft' is
— o i A. watf B. b@are
R S : g C. calb 4mm D. 5&® 4rat
o ot T TCARBAY o e (e o o s = e
o ufs SRTen 23 FETE TE e ol o | I‘fcﬁ!“’ﬂl' ¢ e
o 55 vpd =reriivs #Affaf ayrme frew - sepe o : R
Ao Solitary - fef Barrier - 9141
* <% SR 4 $o1f Folba T - W g . £
Sieve - BRI Spice - T
omx?rﬁwmmm ﬁ#ﬁ:eoaml & Stinticts T GHE” Shay -zt
m S— A.l“-:c. S
a_ﬁm o i Antonym of the word 'ally' is____.
A. TR B. frgn A. repel B. obscure
C-*@ D-m S - C amuse D. enemy
: ﬂT Obscure m
2! All =
Tl | ewr | soed | SR yﬂﬁ‘ syuonymﬂantonym
T [ e =2 Synonym : Friend, Partner, Colleague, Associate
ol Antonym : Enem,Foe,Antagamst,Detractor
e | R s 5 ;
ﬁnazr:w o S § Synonym of the word clamornus i
R ? A. stentorian B. tranquil
A. *FFR ﬁ‘B. wé-:%‘_c afeg@rel D, oo C. taciturn D. fiery
TN el RpaTm AT M1 - Clamorous - O% %
o SR + O = ofuRE o F7 4+ 5 = Fw . Stentorian - #5% @RI Tranquil - 1%
o A + T = Frf o e 4 ¥ =Tl Taciturn - SEreE Fiery - g7%
° B3+ uy = By o B1St + W = Bremw Clamorous <% ¥ synonym <3 antonym -
o 1 + BF = Fmf - eftt+ w=Fe Synenym : Loud, Stentorian, Uproarious, Vociferous
o7 o= o i< = A +/Calm, Silent, Quict, Hushed
An . L2083
o8, {‘ﬂ;mmm Wﬂﬂir 10. Which one of the follomng sentence is incorrect?
a R A. He and I did our best
NJN;? FB W*ﬂ C . B. Which class are you in?
- “'TT( NI« C. Which book is yours?
¢ FrECEE - S * INTFOR - A D. 1, you and Laily are guilty.
» <BICet ST - FTE AF @ T AL A - 0 47 4 M : ST FRT sentence 0% |
o TifE7 fom - I o S ot aww e - gosm Ans : 7%,
* B BT - (TR © 3T SIEIA - CofMorT FEen 11. Spelling of which word is not correct?
» TG AT - WG <11« SR - A. limerick B. appeasment
Ans: B. o C. assailant D. lieutenant
oe. Fea @D BM'- @ TNET =% T2 TNT : Appeasement - FufB
A. TR B, Wz C.*™t D.3H ogif g spelling -
TG : 517 G TGS TR : 5, SR, DI, PR, HHI, Lieutenant Accommodation Limerick
9, B, TR, 0%, 0, Sk, eufiofs, exfend, | | | Aggression  Anonymous  Assailant
B, TG, PR, TR, WA, woefs, wwarg, wrwe, | | | Brilliant Anniversary :
o, Tpet, 7w, T Berif | Ans : B.




12, A person who does not believe in the existence of
God is called___

3q. Complex form of the sentence 'Saima is both a
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singer and a painter’ is

A. theist B. heretic A. Saima is a singer but a painter as well.
C. atheist D. fanatic B. Saima is not only a singer but also a painter.
Mt : wargerf g Definition : C. Saima who is a singer is a painter as well.
® Atheist : A person who does not behwe in ﬂ:.e D. Saima is a singer and a painter as well.
existence of God. TNG! : both.... and I& compound T complex TR Fam |
» Heretic ':-Apemonbehevmgmamsmg Structure : subject + verb + both %% not only + Noun/
religious heresy. Adj./Adv. + and ¥ but also + Noun/Adj./Adv.
o Theist : A person who beheves in ﬂle existence Eumple He is both smart and intelligent.
: of God. : S i Heisnotonklysmattbutalso intelligent.
» Fanatic : A person filled w:th exeeaswe and W Sannaxsnotonlya singer but also a painter
. single minded zeal. . 5 daaes
%ns £ mt that time he in England for two months.
Brothers must live in harmony. They must never fall__. A. had lived B. had been living
A. apart B. away C. off D. out C. lived D. was living
U1 : Fall apart - Rewn — Fall out - wewar | | [S0001: Sdice a3 1w (A8 91 5108 ST o &2 bt |
m“mwww TR W2 4TS past perfect continuous 2 |
faroen went e = " E A Lo et A Structure: subject +had + been + verb(ing) + obj. -

Ans : A. s aayass

. Which one is the correct meaning of the
following idioms and phrases : 'A man of straw'
A. an worthy fellow B. an unreasonable person
C. a very active person D. a man of no substance

M1 : A man of straw - A man of no substance

o gy % phrase-

Hit the sack - Togotobed ?

In a nutshell - Expressed in a few wor&s. <&

Go bananas - Become crazy.

thﬂlcbook tostudyueryhard.

Ans : 8
H Convert into indlrect speech : He s:ud to her,

"What a cold day!"

A. He told her that it was a cold day.

B. He exclaimed that it was a cold day.

C. He exclaimed that it was a very cold day.

D. He exclaimed sorrowfully that it was a cold day.
I : Exclamatory sentence (3 indirect speech @
FHAEY FIR structure-

Structure : subject + exclaimed + that + other subject +
verb + very + adjective (or great +noun) + ...,
Example : Direct : He said, "What a beautiful bird!"
Indirect : He exclaimed that the bird was very beautiful. -
@i, He exclaimed that it was a very cold day.
Ans : C. .

3. Choose the noun that is always singular.
A. baby B. box
C. knife D. furniture

[T cmetm'emanlmmunmblennun,thusxtm Al
always singular, -
-Theplmalwuld "Pieces of furniture" hutﬁnmtm'e

is always singular.
Ans : D.

-AmB

Exam ¢ had bemreadmgfm*m hours.

W* that t:meig had been living in England

| Ans : B. :

'l met a llttle cuttage girl'- Here 'girl' in the
sentence is____

A Noun B. Adverb C.Pronoun D. Adjective
gt : @ Noun functioning as adjective <3 Twga :
9 cottege @3r girl W&HE Noun i 72% noun «a™ine
< 29w Adjective mmNmﬁmwml
T, glrl-Commmnmm

Eii Which one of the followings is a verb?

A. Aberrant B. Deflect
C. Divergence D. Divergent
At - Deflect (Verb) - *ffaas = |
Aberrant (Adj.) - R
Divergence (Noun.) - fife
Divergent (Adj.) - wmﬂh

N 3x — 100y + 45 = 0 @ —50x — 1.5y + 34 = 0

A, 7% B. Twa@m C aF2 @4 D, FEHE
3 =50 100
Tt - :wmmm_lm,umm_—ls
mqm-——l-o——qxi——l
3 10_0

o TG #37ig =19 |

Ans : A,

R, G Rz IS YT (4, a) © TR G (5, b)

T b i x- s Boi wows o v e
A.5 B.3
C.4 D. 4/3




Y TEF (X, Y) = (4, 2)
' mw& 9)=(.b)
e ity =1t y=3
. Frfon g (4, 3)
B zre x wre Boia =en e = Rfbr @ =3
Ans:B.
EX) 5x - 53 y + 1 = 0 wriisaciiba cafiisy forsa oy
A. X- T0Fe AR 30° (@19 Ty T
B. Ton urwg Afes wee wm

C. y- 90%a A 30° @1 Teog ==

D. emb3 79
;N Sx—-5\3y+1=0
@E O, tan® = —— = B = 30°

V3

WMxmwﬁmm30°mwm|
Ans : A.

ACBO wrrersw® A(0, —4), B(-6, 0) O(0, 0) =

AR @2k 2x + 3y + 12 = (0 @ wwerswR 9 b

4 2 RSTRGER CRa 397

A. 24 B. 12 C. 48 D. 6
It : ACBO WRes twawa = 2 x AOAB 99 coaws
H_:zx%lo 0 -6 0

=24 3f 959
0 -4 0 0

Ans : A.
W Xty + 4x — 10y = 0 T8 x- T @7 I, Teoly
-4 (] 3@
A 2171 B. 4 el D.3.75

TG : x° +y’ + 4x — 10y = 0 T&8 x TF 206 26w v
= 2)g> —c=2y22 -0 =4

co{sin_l%}:?

A 203 | < Bakhla v IC.A3 | D, 1A/ 2
T mt(si:n'i %} = cut%z V3
;ns:C.

4. x2+y1—6x—2\/3)=01‘aﬁx-WAﬁBﬁW
xR y 9 C s D R o =@, o1 @ it ot Doy o
SR 2SR i Fm ABCD om0 Fos b e
A wsfis B, toge C,ofreq D, Sersa

m X+ ¥ = 6x — 2/ 3y = 0 7B x WHE (T 0 y =0
X —6x=0=x=0,6
ﬁ“iWA(O 0), B(6, 0)

W.YWC{EW,K’-O

;'t.yz—zﬁyé{):>y=0, 23
ey 0)’])@5{01%2%{_ : o Ferf Bt

mAmCa MRD HGITE

&7 | wdie Rers e @ o3 fage |

L Ans : 51f% |
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Q. GO TS (Y A TS AT ATITFA ANY FATHA
T AT et 215 2, Foem o1 e ety e

A.5 B.7 C.6 D. 8
YRG! : ATSLE AT AN FATALHE (A6 T2 = °C,
4G =21 “(“2'1}='21

=>n'-n-42=0

=>Mm-TYn+6)=0=>n=7
=, Wo19if g o G @ AN =T + 1 =8
| Ans : D.

[ (
lan'ikx +§J+tan_lix—%}=ian4ZEC'I.xGﬁI‘THWr

-5 1
A. 6 B. 3 C'.6

[T tan” [x+-1-]+tnn"{1-ﬁ-]=tan_'2

DJ‘

b e L

el
L Xd—tx——
=tan '31’.’. 31".~mn"2:> 2% ]=z
{xrgx-1) .
18x =
© 10-9x>

=9 +9x-10=0
= 9x°+15%x - 6x— 10=0
=(E@x+5)(Bx-2)=0

5_" 2
.'.x=-—,—
3 3
| Ans :
®o, f(\) X' —3x; -6 < x < 6 FIOHDT @a FO!
A 0<y<54 -18<y<54
C.18<y<54 D.—4<y<28

T fx) = x° -3, -6<x<6
O R-6)=36+18=54 '

f(6)=36—18=18
f0) =0
LRE= 0<y<54
Ans A.
12
o (%—l] 7 gl (T 8w 1o x e T
; n
A6 B. 8
-2 D.0

: = _
et - G-l} @3 729 (6 + 1) o
X - e

X (126777 N6 )
12 12 0
="Csl—F - = —.X
6(3} [ x] o35

XGREE =0
Ans: D,




o2 IS +4x+2y’+6y+1—0=ﬁmwfﬂmwtm

a7 SR 1Al g v
A 43 B.2\3
C.43 D. /12

T x* +4x+ 2y + 6y + 1=0
=>x2+4x+4+2(yz+3y+‘3‘)=—l+4+‘3'

2
=>{x+2}z+2[y+-3—J i

Z
(3]
* 2
=>(x+2) 5 7 -1
15/2 15/4

Ji5 fTi5. .
x??x 1572 =

Ans : 7%,
wo. GBS A 3 B wm, 5 B I ¢ 7 B st = wwwm)
TSI G gt T T G e | It e
QTR WA F52

A. 3/105 B. 3/15

C. 7/105 D. 3/7

TP : @B WM RN =3+5+7=15

T AR
qmmwwmmw_T-_=h_ |

§: A,
sec’(tan™'2) + cosec’(cot '3) = ?
A.7 B. 11
13 D. 15
TN : sec’(tan”'2) + cosec’(cot™'3)
= 1 + tan’(tan"'2) + 1 + oot’(cot '3)
=1+ 4 +1+9=15
Ans :
e, tan20° + tan25° + tan20°tan25° = ?
A.0 B. 1
C. -1 D. @52 7w
TJGT : tand5° = |
= tan(20°+25°%) =1
tan20° + tan 25°

1-tan20°.tan25°
= tan20° + tan25° = 1 — tan20° tan25°
= tan20° + tan25° + tan20° tan25° = 1
_Ans : B.
BN =fit cosec x + cot x =13 @, T@ x @ W Fo?

n L
A.ZI‘ITE+3 B.nnﬁ-ﬁ
C‘nrc+g D. nn
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[ cosecx+cotx-~f
7 cosxzﬁ

sinx sinx
=>1+cosx=1’§sinx

= —+/3 sinx + cosx =-1

LBy end 1
:>—Tsmx+2 cosx =-—>

=x=2nmn+cos’ [— i}—cos_l[l}
2 2
=x=2n1t —-——
e g

=>x=2mt+%,2mt—1t

Ans : A. -
©q, R—(nm: ne Z) @R @8 = R — (-1, 1) uft =7 oz

A. tan@ B. cot®
C. cosf D. cosecB
g BN (ST € (F7a :
yo= D¢ Ry
sinf R [-1, 1]
cos® | R -1, 1]
tan® — {nm, n € z} R
cotf —{2n+1mnez} | R
sech — {nm, nez} R-(-1, )
cosec) | R-{2n+1)mnez} |R-(-1
LADs : D.

o, mmﬁﬁ?ﬁma fargrem & a2

A.+fg@  B.¥1e
C.*age  D. wfiqa
Ans : A, : |

W e fimmee P g3 2P W weam ufE P @R
faruiam B oW | T TS (BT T 97
A. 120° B. 150° S90° D.op°
[ : P 93 Q IET G P I M AN ey
ﬁ]m
p

. o= cos™! —PJ —cos"[—lJ= 120°
2p Z

Ans: A,

8o. 1.5 km &% AT &re Skm/h. 3o orF oo foit
@t 6km/h Tt Sreta FHET Pew TEw T4 4% Py
A. 90° B. 120°
C. 45° D. 180°

JNT : PO T G TS 21 2 AT 206 2A |

O3, FAET T A AR W @9 =

5 c0s90° + 6 cos (90° — B) = 6sind

. A% TS TR A% 0 =90° 7 |

Ans : A.

m,mqwﬂwm,a=ons"(
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L RS v

85. INSTITUTE b3 Srets ¥ e e @ 6 5
S BerIfer 9w 4w 81. menmﬂﬁwmﬂ[ SJG[-7]m.ﬁmma
A. 3000 B. 2400 C. 120 D. 4000 2 cob =
TN : INSTITUTE =3 9% <t 20 [ @2< 3% T x| il i L S
s S5 e ¢ 4 7999 ws | A. (51-3j—nk ) 4932 (2i+mj-k)
. AeTdorTs @ crd s e < DL S B. (5i+3j+nk) 4% (2 +mj-k)
e C. (51-3j+nk) @ (21 +mj+k)
Ans : 72, D. (5i—3j+nk ) @ (2i +mj—k)
83, IS fod (I A8 2w e SI®? ¥ oa T E 55
A.30° B. 45 C.25°  D.90° W:qﬁc%am—ag—a;kﬂ& bji-b,j-bsk
STIrgRT T A L
o, R < IR a4 5y b, b; h,“'
g .
& ___5
Ans: B 2 i
s v LT e e
s 5 0g W(D)W.Eé':%s‘-'#fl‘?-§*§=§
-2 b -3|miad RemEma+b+c+d=2 T ali
-7 3 ¢ Ans : D. '
A. 3 B.2 C.7 D. 5 8. 2 WIRTETI — i+ - |+ ak oA a® @ oM T
It : ke Refemzm, A=-AT = A+ AT=0 2 3
oo bati 2l =7 A.:—E B.i@ C.i@D,i@
=|=2 b =3{+|2 b 3[=0 3 6 3 6
2o T d ie3ire T : (T (OB W | OIS 3T (59 07 |
200 d-7 [1 5 [1)’ -
==k &l =l da =1
= 020 ) o 3
d-7 0 2¢ i 1T Loy .JE
~a=0,b=0,c=0,d-7=0=d=7 SR e RO &eT
Sa+tbtc+d=0+0+0+7=7 | Ans : D.
Ans: C. Y 2
88. z= (-3 —/9 ) ¥ wiber ey, B TR ¥ csu
A3 \1;_3\/7 C.-3\2 D.-2y3 A.8a' B9 C.78% D.9%’
[N :z=—-3 — : s FAT TN §E
: : o tim = =987 b=9a5
= \f(—3)+(—'\f- ~JE=3E x> x-a .
Ans B.
8¢] B‘mm [ sinx = ¢ cosecy @ oy %ﬁ‘ﬁﬂl
A.B=3,5 B.p=3, -5 Atanx tan X tanthanx
C.B=-3,5 D.B=-3-5  tan X ‘“tany " tanx " tany
[t : mmmﬁwﬁmﬁﬂﬁﬁmmﬁl‘m TMT : sinx = ¢ cosecy = sinx siny =¢
g2 23l S [ S s d
+2-15=0 = —(sinx siny) = —(c
s pl” =p°+28 dx( Y) dx()
_ =G 9B-9=08=-53 | | | ioxcony &t singcom =0
8v, tan(-1125°)=7? ‘2.3.".— sinycosx _ tany
Al B. -1 C.0 D. 1/2 APt it e g
T : tan(~1125%) R
=—tan 1125° ——mn(90°x12+45°)=-tan45°
Ans : B.




In2

- JI+(=:
3 =3 2 =2
A.ln3 B.In> C.In3 D.In
In2 :
e in2 3
T dx=[Inl+e*)|, =In3-I2=In>
v!l+e" [ ¢ ]u 2
Ans : A.
f(x) = In2x, f{(x) TR x = 2 T ~¥fren v oiRl?
1 1
Ag B.5 C.2 D. 4
TN+ f(x) = In2x = £'(x) =—=-L (2x) = L
2x dx X

x=2ﬁﬂxw,""'r'fcaﬂf_ﬁrl'l,1“(2}1=l 1% _;":'-.:'.'
Ans : B.

“ H: 2019-2020 (272)
@b, MR e 93 BelkE & T

A, SfEem R B. atfef swreffaw
C. srgfa sfrsfan D. @53 79
[T : 595 AE ARES SCeRw [Eeem STOETes

(Leonid Kantorovick) 7aes casimed canss =it g
@1 ds8e H aSm fevgras TfEE e w9 I @3
el gfem S e e AR & |

dire wnafen sffefn &% f.e® (George B.
Dantzig) $584 et G cenamm cva g 36w €ae
simplex Method %R <t (| @omy ois eiEH
(ST TERFE AR S

Ans : A.

¢q. ® I w3 wlbn v &, vw (1 + 0 + o) (1
+ot+an’)=2?
Al B. -1 C.0 D. @

Tl : (1+m+m’)(1+@+m=) 0x0=0
Ans : C. !

@9, mmmmmmmﬁsnﬂec ‘JWW
voE | 100 bR @ I A wie 3 enee e

At S T
A. 30 m/sec B. 40 m/sec
C. 42 m/sec D. 45 m/sec
IV =u+2as > vV =0+2x 8x 100
Lov =40 m/sec
Ans : B.
8. — < () oFweibe AN FoE @
(x=7)(x - 9]
A (-T<x<-1) B.(7<x<-9)
C.(-=7<x<9) D.(7<x<9)
T 3
—__l <0 -m< ,+ T A =m0
(x=7) (x-9) 7 9
wT1<x<9
Ans D.
—ﬁmmqﬁ_wmwr
A.log3;n  B.log3,\[4 C.\[4,\[5 D.sin2°,

\[25

TRG1 - O3 o et o Bt «

. T W - Bt - 10, -5, 0 Zof

3 ;wgmﬁ

@, I e wedn- B 5.32, <2.975 Fwnt

8. SN WA et ARE (Moo wrRTE e T
I 1 : 4.101101101......, 2.131313..... Zeiifer

O3 o TR C Bl -

S, SO R el WO (Mo WHiE e w3t
F A1 %A 5.1327. T, & 2O

}, ORI GAIGS TS TIPS 397, T, e R

T TR AT | T - JE,«E,’J?,W,%@W.

| Ans : A,

2, (R Sy B ;

¢r, Y—64 z?
A. £2(1£i) B. +2(1 +2i)
CoabA ) D.£2(2+1i)
1 e 4f-a® = \f(m)
1' ((Iﬂ) i?.(l:f:l)
Ans : A.
- dx =
J"'dx3+1
A.E X +1+c B.2 x2+1+c
3 3
ol ! st i i
3 3
e T 3,} Y A
TN =z dx =dz = x"dx =7 dz

1
5 3 1 2
dx= | dz==2Vz +c=ZVx* +1+¢
'.‘\J'xa—i-l ‘[‘E 3 3

Ans: A,
‘I. 4-x’dx =2
0

A n/2

B. 7 C.2n

et : G J-_wj'az —izdx=E:i
- 1]

le), 4-xdx = i SR
0

4

D.2/n

Ans : B.




A. ML TT? B. ML’T 12

.M LT

@ W S m R AR m, | SO
@t ¢ ax 3w v @ feRen gon Rsa o ol e

B <= o A v v Pt V, 6 V, S e
TR | O-GF T FS TV, 8 V,, Boeern i qar
Vy

Vi

A. 150° B. 120° €..90° D. 45°

P« A=2i+3j-5k @ B=mi+2j+10k @, wa

m -3 9 S T (SPAH *E B oW ay
A. 12 B. 16
C. 18 D. 22

. et e fBapi 2m IR wRERE e o
Fut e oare | 7% P e Q Rre cerre b

25 T Y, R R MG R TS AL
P Q
A. 1ms™ B.2ms™!

q0. G T o CETENT RY IS T ™ WS 20 cm
RS T @f w9 AW i e @y
A.02m B.20m
C.25cm D. @E 73




g -t e T 20152020 074)
w

ER) = Sweffifte of araaa wm «fiFbmms g svmmn | [0 : o e 38 990 oo 9 a1,

“Afiet Tt <@ : TR
A. @i cae B. ofee i Keq=[- ._J L KiKy
C. Toe 7wz RfEas D. Te¢ 3% We K K K, +K,
TNt : 45 (Thermistor) : “fiPon @ SéefaR “mrd [ m Cnd [m(K; +K,)
K

o8 g W S AR 9e W | @B S otz | | s L=2n
e qr | Baee 3w Y i ARFOER [aTes @y e Tw 2
2 I | €% DR SR @ A RbTER wewE S o g | | [ADS : A

2| 98 AR FR- 0°C (aew 300°C 8 By ofgye| | % T O 4 FEAOL

KK,

91 T | S el e e effiars T @ frs = | A. Nm B.Nm' C.Nm” D.Nm’
Ans : B. : oW
2%, T 07 R oy w5y o7 woad gy we o by | | o0 P, E= -

F 1m VA (CAF TIHH 0.295 mm =167 T2 ]oule N.m

(ST 7RG 5.90 x 10~ m.) il o i S0 i Nm™

A. 2 mm B.10mm C.lmm D.0lm Ans : B. "
JIYE : TEE A4, Ax = 0,295 mm = 0,295 x 10 m e TS S FoeEER @ e A @t 0.02 ms
i ‘ 4ffa R 0.004 m T 97 e Fer

a s A.25s = B.126s C.2s D.ls

DI N« A 7, v = A = 0.02 ms”
Ax - (0.295x10 ) LR R
Ans : A. A 0004
q0. (¥ @ SR ToRg 3 7o ¢ Fromq g wydt 2n  (2x3.1416
7% 100 cm | &7 S3vm +=im 320 Hz | <900 @ 397 T=——=[———] =126
A.640ms™ B.1280ms™ C.332ms” D. @AB2 £ B“‘
[T : 2% 916 17 @ T8 Y, B
A ™ Gt ek 2 o= 2500m Jrew vm e ciy www 8Q, 100,
—4~'=100cm=>1;=400cm=4m 12Q @ 1602 | 59 IER MR 3 @Y T T3 Jie
HAMEER TAE?
T @, v = fA = (320 x 4)ms ™' =1280ms" A 20 B.24 0
Ans : B, g P 3
98, H2fb AT ST (@7 e 2Tl G TR Uy, uy G 0;, 0; | s A8 D. b
=T <14 2T R SR R (X, Y1) 'S (X, V) | SH T | | 5yt « BEBOO RrSE HWRER HE, P_R
AR e RS AR g (x, y) @, Fos @R e Q S
A.y=kx B.y=kx’ C.y=kx"' D. @m®3 ™ 4, 524 TS 1 @Y AT TG WS 2 |
> 832
w:mmﬁﬁﬁ’l.mﬁxlmﬂ&-ﬁ d E_Tﬁrmlm
zu,cos : @S 1 < 1662, O 1602 97 A FNMEGAE X @14 TS IW T
ﬁ@!ﬁmm, y2=x;tan02—~——§j!—(2—z——— LG
203056, AR BBt (e IR N e
S A ACATE TE AR T, ' “r 16 x x r 16 15 16 240 240
Y= =YuAs XX Ans : A.
g~ @ ) | | Y o e 2 e 27°C i o e i e
Y=(thaﬂ92—xnlﬂﬂ9:)-3 Y PR s T a7 FlTwet 50% | SR weE 150 K e
%2 2 1 Tt 2fer et T MwAr
LAns : D. A.60%  B.10%  C.65% D.15%
Kl K, © K, 1 7= Rf¥® uft Pece aft s 15 =01 | [ s, 1= (273 - 27) K= 300 K
TR TP S T T2 = (300 + 150) K = 450 K

K +K,) S S AR T
A 2 |20 +K5) 2 . PP Sl S e
NTRE (Kl+K Toy I 1505 s

KK 25%
C. 2x | ——1 —_— s, TSl F900 T = 50% — 25% =25%
(K, +K,) \l(}( +K,)




: 2019-2020 (275)

vo. a3 wmvmim A SOTH] GRS PP
@Y YA S0cm 93 Sem | 76 FwiPr @@ cvm
Tafbs ond 7o
A.55cm B. 46.83 cm
C.4.17 cm D. 54.17 em
[T : 10 PR 99 O H0o| el q0wd oA,

L= f;.+D"f=[D 25 cm, =2 Wi e ]
=(50+

Ans : D.

7
"st]=54.17cm
+5

| wrEEeeR e (H Unit)
Freiad : 2019-2020 [Set Code - F] _

m The Bengali meaning of the word 'debris' is

A, SgfeR B. Sz
C. ®eEarg D. e
[ = Debris - WETE
wwged 5% word meaning-
Ambiguous - @=i«®  Bona-fide - %
Authentic - % Disparate - 574
Menace - SfF (7531 Overt - &3}
Ans : C.
The synonym of the word 'staunch'is_____
A. hasty B. gradual
C. frosty D. precise
Mt : Staunch - gFE/w
Hasty - §+if8, 258/ Frosty - o8 o8]

Gradual - 33 Sirg/@ = Precise - Mg
Staunch <3 9§ synonym <3 antonym -
Synonym : Ardent. Precise, Loyal, Stalwart, Stout,

Devoted, Constant
Antonym : Disloyal, Unreliable, Loose, Moving,
Unfaith ful

Ans : D.
9. Which of the following words is spelt correctly?

A. affedevit B. affidavit
C. afidevit D. affidevit
gt - Affidavit - 25E=E1
wwg7| Spelling :
Ascertain Assessment Bureaucrat
Commemorate  Encyclopedia =~ Magnanimous
| Ans : B.
©8, __ Mr. Robert whom you met last day is my relative.
A. Any B. Some C.The D. That

Myt : WiWE-wa gaeE &0 Definite Article ‘the’ 392®
2% | 9<MA ‘Mr. Robert’ & ffME F= i 0% 417 AN
©f oSE (A aferm | WRE, That IR 91 &8 08
T4 2we a4t Whom (7ed1 Wtz (36 Relative pronoun |
Ans : C.

T8 1 have writtenit____ink.

A.in B. by

C. with D. through
YT : Write in ink - ¥ fas @t

Write with pen/pencil - ¥ s @<

a4 “wife it far ficefe” SIS "Write in ink" T3 1
Ans : A, :
ob, Government by a small group of all powerful

persons is termed as____

A. monarchy B. oligarchy
C. democracy D. anarchy
Tt : eFG| g Definitions :
e Oligarchy : Government by a small group of all
powerful persons.
e Monarchy : A form of government with a
~ monarch at the head.
e Democracy : A system of government by the
) ‘whole population of a state.
e Anarchy ~ : A state of disorder due to absence or
non-recognition of authority.

Ans : B.
Which one is the correct meaning of the following
idioms and phrases : "To keep one's temper"
A. to become hungry
B. to preserve energy
C. To be aloof from
D. to be in the good mood

1t : To keep one's temper - tobe in the good mood
sy g phrase ;

Once in a bluemoon - very rarely

Take a hike - go away

No spring chicken - no longer young.

Behind the times - old fashioned.

In a nutshell - Expressed briefly.

Ans : D.
m The antonym of the word 'wane'is
A, virtue B. vanish
C. smooth D. wax
et : Wane - =9/%Me9
Virtue - qee/70 Vanish - &g =1
Smooth - T Wax - Ber/3f% e

Wane % g Synonym <3t Antonym -

Synonym: Abate, Decrease, Atrophy, Dim, Die out, Shrink
. Antonym: Wax, Brighten, Develop, Grow, Extend,
Enlarge, Grow

Ans: D.

Convert into indirect speech : I said to him,
"Why are you working so hard?"
A. I asked him why was he working so hard
B. | asked him why he had been working so hard
C. I asked him why had he been working so hard
D. I asked him why he was working so hard




enough to be picked.
. B. advanced C. ripe _D. ready

. Which one of I . eod word?

A. e B. travel : _ D. livin

. Compound form of the sentence "The girl who is
singing on the stage is my cousin’-
A. The girl singing on the stage and is my cousin.

B. The girl on the stage and singing a song, is my cousin.

C. A girl is singing on the stage and she is my cousin.
D. / B, C all are correct

3 Which neol‘ the fowings is a noun?
A. Divergence B. -‘-

M0 (T
LI ] {

a8 ' ==

o~ B 5 Bt e

A Y —3y - 2x+8 =0 b e e won Hifkg
AT IO
A. (4116, 3/4)
C. (23/4, 3/4

B. (23/4, 312)
D. (23/16, 3/2

B x — y +V/3 = 0 e afny S
A, y- SUwe A 30° et Bey A
B. Ten wrea e wee e
C. x-SIT%g 7MY 60° 1t Teoig 303
D. @FbE ¥

». & @9 (1, 2), PRY F /o7 Sw wfee @ h
=i 0 2 o T P @ ey
A T x-Tws 3w B Ipd =2
C.ymif = 1.5 D. 38 y-r5ra = a3

¥ AB PG, 0) «:Q( —5) g B W
RS 0 | G xR e v e et Berly waTRy
45




Al B.0 Ci2 D. -1

M : sin [2(sin~'x + cos 'x)] = sin [2%] =0

il i
x1+ﬁx—1=0aMwmxwmmp
IR R TR g e T | SR, p+ q = ?

a2 B. 6 €-t D6
TN X+ 6x — 1 = 0 7 T [wrdis ored p, q ]
ptg= —§=-6

:D.

8. 93 Iww 30 wm, SO e gw 7 AW = wws
GUAATATSIE GFAICe 96 991 BT et et | <o it A
QSR TR FO7?

A 1/7 B. 1/5 C.3/7

[N : @B A AR =3+ 5+ 7 =15
: A ; ]

.-.mmmwmmumw=r%=g

Ans : B.

¢. 1% (0, 0), (a, —4) (4, b) &= (5, 0) 9= FTve@ TR
T, SR IWoR Fba i wer
AQ-DTHEELDVCE DD @S

W : LS, T T4 TS TARASS A

[0+4 0+-h-] [ b]
oo | e it = 1 L
2 2 110

e [.a+5, —4+0.]:> [a-&-s’_zJ
2 2 2

D. 7/105

. femE a2, -2)
Ans : A,
tan'1 + tan"'2 + tan"'3 €7 W @FH?
A0 B.x €3l pug
[N : tan ' | + tan'2 + tan”'3
. s 243 By o iata i 31:
4 1-2x3 4 4 4
Ans : B.
4. tanl5°="?
A.2-13 B.\/3
C.2+13 D.\2

). INSTITUTE *fba SaaemEs oo o3 SEta 9y [T : tanl5°

e Yeder e 3w A ~ tan(45° - 30°)

A. 4000 B. 1200 C.240 D. 3000 tan45° — tan 30°
Tt : INSTITUTE *%fba 9 7 2/ I e 3% T wee 1+ tan45°tan30°
e 4f6 ¥R @ 56 e = e | 1
-mmﬁmsfbﬁmmmmﬁmwﬁm ' “T Bl B-1? _3- 23 +1

TR =2-43

46 gm ;x5_240@mmm| f+1 (v"_) = 2 .
F}C- 2=l -1 Ans : A.

sin [2(sin” x + cos™ X)] = a A, a 9T W[ FS

2019-2020 (277)

. (3, 1) 9= (-4, 1) R fiew T 9wt 087 g y- wowa
twwaﬁwqaﬂhwﬁwwmam
AX+y-8y-9=0 B.x’+y-8y—6=0
C.xX+y +8y-6=0 D. @02

N : (FH y R SO SATES T, (R G O T |

uf2, e @, 1 + P + 2y + ¢ = 0.... (i)

T (3, 1) @ (4, ) @ =, 10+ 2+ c=0 ... (ii)

¥R 17 +2f +¢=0..... (iii)

(i1) @98 (iii)R 2@ f 93] ¢ 9T T LT 79 |

wdie g B XTT 78 19N T4 TG Y |

Ans : D.

. 2c08°0 +2\/2sin0 =3 T, 0 =1
A. 10° B. 45° £

T : 2c05°0 + 24/2 sin = 3
= 2 — 25in’0 + 22 sin@ = 3
= 28in°0 — 2\/2 sin@ + 1=0

D. 30°

= (ﬁsinﬂ'—l)’=0'ﬁsin9-=%

o B=45°
Ans: B.
Yo, cof2A +tanA =7
A. cosecA
C. tanA
PO : cot 2A + tanA
2 1—tan? A
2tan A
_l-tan®A+2tan’ A
2tan A
Ans : 7%,
@, 2x+3y+1=0,x=0, y = 0 @ =0 w1 wrw
© R CROTE 97

B. cotA
D. secA

+tan A

1+ tan”> A
2tan A

=cosec 2A

A. 12 B. 1/12 C.6 D. 1/6
W=2x+3y+l—0=:>—l+%=
Ao s
X-F, y OF @38 2X + 3y + 1 = 0 99 WS R ORI
1 -1 = l
= |=X—X—
¥ it 3 12
Ans : B.




o, f(x)= mr(x}ﬂﬂﬂwr
x+1
A‘x_-l-l B. y+1 C. X1 D. £§=l
I=x y-1 x—1 y+1
I 4R, y=—— Xl
x+1
X l=gyty—sifl —gi=y+t 1 = x:—f+l
=Y
x+1
f"()——
—X
_Ans.A.

vo, y = sin'x fisa @l e
A -1<€x<1B.-12>x
M : y = sin”'x 97 (BT =

Ans : A,
8, Mﬂwmm#&wmmﬁﬂamw
ol T I A fargrem MRy steegrer i T

C.xeR D.x<0.5
—l<x<1 ros i

A. 8 B.9 .12 D. 10
T : e @b fags ey = °C; = 10
Ans : D.
o¢. ABC frgem cosA + cosC = sinB @, @ LA @&
T FS7
T T T T
A.2 B'S C,4 D‘3
AT : cosA + cosC = sinB
ALE SCALE 1
= 2cos > cusT=s;nB
B A-C . B B
=>23m5’cos—"—2 =25micos§'
::»ms.—"A_lc=<:|::~s.E
2 2
= A-C=B=2A=B+C=A=n-A=2A=n
=
=
Ans : A,

oL, G RIS MR 0 FAR @ A ... 7 |

A Sfey  B. s C, %wm D, ofies
N « TargrEm MG TG ARIE WA | AT (EE
“fferea T 2T |

Ans : D.
09, TS AT AT cata SR I 2W?

A. 1945 B. 1938 C. 1949 D. @@Bs 7
TG : S»o> AA AN ATelan memm  STeaies

(Leonid Kantorovick) =4 Gl ceians =i g
oA | Sp8e A fadin frgras Afas Qe w95 A 99
Fre] a9 w0 O cefiaT TR 9 2 |

madTe wwEeH sfefw we f.eaB% (George B.
Dantzig) »89 Ta QT (2T CFa SERA SET @I
simplex Method wf¥®E ¥@d | «oa ©rs e
TR TR 99 T |

Ans : D.

: 2019-2020-(278)

K fosw it Refesm miiae

g —~3 %8 0 -2 3
M ] 4 B.|2 0
_3 -4 0 _3 -4 0
[ =2 [0, =2 —3]
¢ 2 9 ~4 D |2 © -4 |
3 —4 0 3" 24 0
TN - o G e T 2 T A = AL |
0 -2 -3
weewm (D) =e, A={2 0 4
3 -4 0
02503 0 -2 -3
AT=|-2 0h=4l=-AT=[2 0 4|=A
-3 4 04 3 -4 0

| Ans : D.

o, R—{nn:necZ} sRa@a= R\ﬂiﬁwmﬂr
A. sinf B. cotf C.cosB D. tano

EE mmmum
= Dy R¢
sinf R -1, 1

| cosf R -1, 1
tan® R—{(Qlﬁl]%.nezi R

cotf R—{nm n ez} R

secH R = {nm, nez} R-(-1,1)
cosecd | R—{(2n+Dmnez} | R—(-1L1)
s:B.

8o, MM @Fited @Y 3km/h PR @Y 3T TH PG
4km/h @t G “ite FAT 241 Fre R
A.Skm/h B.4km/h C.6km/h D. 4.5 km/h

TP : SR @ v G @es @ u 7, 95 ETere

(T W2 e 2% e T eiba wfd @,

o=vV-w=4=vV-3¥=3v=5kmh

Ans: A,

?’ T

tan'[a+a]-l

8, ——<+—="7

2 iy

tan‘(u+—- l+l
. 4
. T .

A. sinZ2a B. tan z C. sina D

tanz(cu E:—J-l
Tt ——————— =—¢0os 2(&«1»%]
tanz(or. % E)H

=— cos(g ks 2(1) =sin2o

Ans: A,




e e ST T o et e (27
T—

83, b fUFCT 1L 40m/sec AT @ G R 60° Ieet
B Jlfi+5mx cosx dx =7

FivwE WEre I TAH Swom e @ T

A0 B. 30m/sec C.20m/sec D. 40m/sec
FWIRT = AT THSE F=709 (A7, A -7/3 B. 172 Cl73 D. -1/2
V, = ucosa = 40 cos 60° = 20 m/sec [T : 4f, 1+ sinx =z = cosx dx = dz
Ans : C. y X|a2|=n
22T T Al 40 N 31 HHew oW R oy o | AN E
wqed 0 30 N, T 3289 ofe w7 S ‘ e B ST
A.70N B.60N C.50N D.8N = ||= I“*Sm") o =f '3— fi @i doch-
[t : Gf5 AR A% R, 7Her < P @ 6oF ow T e A[;':_A %
e T Q 7w, R = Q* - P? o B it
5 QP=R?+P*= 407 + 30°= Q= 50N nmi”%’is?
S 9REn =P+Q=30+50= x—08in /x —sin 5x
Am,m:% Q i A. -1 B1 . C.-2 ' D2
L} IR il @ owm B = 3, -5 T, O FOA @R | [t i S0oRasin T 9208 9% - ToosTx
Tl o7 o er x—»osm'fx—s:nSx %30 7eos Tx —5c08 5x
A,F” _‘T B. [B” 4] =.9.‘__;:]
5 )] =
b p : B.
C ﬁ—2 3 B+2 3 P 3
i {5 R R sv.WﬁMMcos“[~memﬁmm
TN : B = 3, -5 =em, Aot wlicsm owta, T S —
2 a2 ST gt ok
B-3)B-5=0=p+2B-15=0= [B;r ;]= A. (21-3j+k) @ (1+4j+3k)
B4 B. (2i+3j-3k) @22 (i +4j+3k)
mmm[ s BJ C. (2i - 3j—3k) @2 (i+4j-3K)
Ans : D. D. (2i +3j—k) @3 (i—4j-3k)
8¢, THIHT M Beofy eI TR cos ! g cos™! —_—1\ : sl (A)m,
: o) =T (21-3j+K).(+4j+3k) _2-12-3

Jzz s PPV +4243 V14426

€ cos” f Jm.wﬁramcﬂwawmr
il ¥ 9=m—r[_ﬁ]

|
X

A. Q=(2i-2j+2k) B. Q=(2i-2j-2k) 7
» ; e % il Ans: A.
C. P=(4i-2j-2k) D. P=(4i-2j+2Kk) o T
- i - 0 B _lexm_}_c
TN : G (B8 A =a,i+a,j+ak T, X, y, 2 TR T30 ¢ Vid
] 1
g C.Ee"m+c D.ae"m+c
AN B (IEET TG cos ——-11—— I
Jal+alial Tyt : <, x'0 =z = 10x°dx = dz::xgd:x*ﬁdz

1 1 | -
-1 a; 5 a3 Ix°e"w dx = I_ezdz =—e’+c=—=e* +c
o e pe————ur [—"—*] LR 10 10 10

2 2 2 g 2 2
vaj +az fag Ans : C.

a +al +a’

el 2 i e ol @o. —3 < 2x < 8 7 TN 4 e FAB?
AT, CPIHSTH cos 7_8 cos —-E 6 Cos E A, % ik B. S C.3 D. 5%
nch: 51 3.
BB 21— j—k 91 92 G | I -3<2x<sB=> -5 <x<4
;. TSR, P=4i-2j-2k ‘ Kx==101,2 3,4
: Ans: D,

Ans: C.




e AR AN 1

@ LRfe63 Common base AT WiE| @3

¢. Ta,bce RWEE(a+b)+c=a+(b+c)@F
Frevifafen s o= 772
A Rfmfife B 38 ffq C. 7wy D, embE ==

YT : I/ TG TRERE «

y19R%el:a,be R¥A,a+be R asabe R

i fafm @sret: a+b=b+a,ab=ba

© | TR @St : a+(b+c)= (a+b)+c,(ab)c¢a(bc)

g WonrRSRg:a+0=0+a=aal=la=a

¢ | ReRrema oiey : a+(-a)=(-a)+a=0,aa '=a'.a=1

b SFel:a=b¥F, a+tc=b+cRac=ocTI |

LAns : C.

. O R D T E, SR (1 - ) (1 -0') =?
A. 3 B. 1 C.9 D. o

;e : (1 - o) (1 -0y

—(l+m 2m)(l+m -20°)

= (-0 - 20) (o’ - 207) = (—3@)(-3&3}=9

| Ans: C.

Xtﬂ'ﬂm [tan -2-]=?

1 5 5 5
A. B. € ELD. -
25+x° 25+x 25 —x~ 25+ x°
d X 1 difx 5
<Yl : —|tan — |=—— —| —|=
dX[ 5) x2 ﬁ[S} 25+ x°
Lo s
25
Ans
¢8, ——edd........
\fl[)O
A. W B. ™™ C.gfta D. @mbE 1
24625 2x25
: = =550 eIl
e T
Ans : B.

ee. y2+85i="7
A. £ (10 ++/81) B. +(+10 +/2i)
C. +(+/8 +/10) D. (410 +/4i)

e {2+ 8451 = 410+85i -3
‘ - J/10)? +2.410.48i + (8i)?
v(J_0+J_1) = +(/10 + /8i)

Ans : A.
mﬁmwﬁﬂww-’n@%l T, e

WOy Wit o T
B 0 g 980 o 24 o 4o
2 4 5 5
_2n 5. 5%
W:W‘I‘IW: #ig e = X x4l- 5
Ans: A,

e[ =

2019-2020 (280)

Emiiter € Collector current T9/&E 1 mA 43 0.95
mA T Base current 57

A.1.95mA B. 0.05 mA

C. 0.95 mA D. 0.5 mA
[Tz Ig = 1mA Ic=0.95 mA
o lg =l = Ie=(1 = 0.95)mA = 0.05 mA
Ans : B.
G e u® hRe e P=4i-4j+k @

Q =2i-2)- k T @@ coarEn F?

A. 85 9F9 B. 9.5 a3%

C. 6.5 v=s D. 7.5 ¢3%

ST

g : e ovaeF = (Px Q=4 —4 1

. & == e
= [(4=2))- =4~ 2) + k(-8- (-8)|

= I63+G§|=\162+63 ~ 8.5 3% a3
Ans : A,

. vED Y TAHE 4ms ™' € Sms™' @0 NI 41 ST
TR YW O FF I G T I8 0 AT o | ol
TP @ s W e 32m @ Mo cvofer | o
o Al @ T Y TS TS FAg UTfen?
A. 8m B. 16m C.32m

it : 58 onfew owm, v3 =ul + 2as,

D. 128m

2k o
n= :2_"'&.: 0-8 - =_1m._2
%,  3x32

m'nfhmlms
mmcﬁa vi ~u1+2asl ;
vi-uf 0% -42

2a 2x(-1)

S Sm :

Ans: A,
Yo, (AR (P TAFI BIeT @ € AR LG Y FE
oo wmr

7 e Sl or
A v - B.v . C.v e D. v=jne
nAve

1 J 1
@, v=——=— | J=—
oy & nAe ne[ A]

Ans : A,
by,

@MW T GA G0 PSR S oG

i SiER P @ I R G ey [ = Tme

ol Lol Mo pol
AB=y s BB=y CB=n D-B=%

wwﬁn‘mﬁﬁﬂ!mmmmw,n=ﬁ
Ans : A, '




IR, SR R | B

vt 10° TmA™' @we ezt A8, 1.8 x 10° Am™ | |t : W = 500J = Fscosd

ARTR BIVE THER Y 200 cm W @ @ wwery 500 P 38 »
s | waBe 10 A fge wwe w4, oty m | | = <9~y ~ (k00 72760
i Jom == e o= - 0=60°
A 32N B.28 N C.36N D.345N Ans : A.
Tt : fgrie <=, F = ILB sind = IL MH sinf vq, 3 R o1, 1.736 x 107 C, @7 o=y 8 =it cwuam
- F=(10x2 x 10° x 1.8 x 10~ x 5in90) N = 36N @ qaf Rewe ofge e 40 NC™' 2o ofte Rera
Ans : C. T &7
wo, 5 fadw AR oo 7 e avEe o™ qibe Toad iy A 15]1C! B. 25 JC
0.36 m | o gfbw iRy g A ol I, D. 151C™
A. 5SS 8 cm, e 28 cm
B. wfer7@ 30 cm, W& 6 cm [/ E= izzar 4
C. wfet@ 6 cm, W& 30 cm 4ney r 4ney E
T « e, %0:5:”":5{’ . : 4neg T 411501 dn e,
5 5 e : ' |
m'ﬂﬂaﬁm,ﬁ]+f‘s=(}36=}5ﬁ+£=&3§ ' g i qE J9xt0§x1736x10‘9x40
0.36 2
ST PN £ T + S0 ban g J62496.=25
wfeArR e W@, f = 5f. = (5 x 0.06)= 0.3 m = 30cm An;on'
Ans: C. v, R T Y 55 4 ASTM..... |
8. m S G 3§ FIRAE (4 ANGI BUTE | t Y R Amﬁm » B, wuers caf
SR v T W T FE I IS LA C. 97 7N D. 7 e wAfRfEe
7 2 22 le
A. m:’T %‘—“f— %@t—;—T— D.2" | |t s, v, = 2R
o gredd = s YeId Tewk ¥ e I I
T« ¢ 5T oAt y T, g a=‘_":"'.-.% Wmlmmwmwm
V-HL eiloghlow SEE e ; Ans : B.
T 798 o @1 V T, a= e T_%;:'-V‘—V-; >, Wmmwﬂ(snmﬁﬂﬁr
. T o o o = oo = m(v')’=57— c_@mm D. cbwfem
Aies | | [ e e e @i g | @ Sty
99 30 cm A4 3 3w e &S WA S0 A o orw | | | T I S A | D TP O I A A
7 6 2.7 m T 60 IR P 9t ¥ W @ TR (7 TCH A ICA O TF A & LA CRACE
A 3.6min B.216s OPIER [PCER o W St 0 A AR | TR T
C.2160's D. A, B T2 5% cowfend | > m‘"’“; e """mm?; ;;“aw"”
ity ofaeE, T, = E—lzs Ans: D.

- 90. 0.02 m &TeF W3 41T “A1® 5T BT CFW R
TR e, L, =27 AR MNSIE SRS | ey Wy TEATE e @ IS
carem o, T = szE T 4 x 107 V W o Ret el @

A. 4%107 ms™ B.4x 107 ms™
Tpeadba C.4x 10" ms™ D. 4 x 10~ ms*
° ":‘ =T=T \! —12"J—"‘3“ TN @ e, Vyy = Bvd
4
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